RLL L e

E“ASMA,A MK“;MPL‘;\‘BEJ_
P-G.Assit In piysice

Svbjects Physics Vol-T 21
2 - ome mevk Kook Boeck Problems
o v - . rJ VA
J1.nD- (C‘\) ¥ e
) i J‘\/ = = rl ”’
’ - ) - .
- @ COUG‘L ({Le v by ’( OX\I ~ \ov¥ & : ‘i’)kl, vV '/

lined  on oach choxge |
®>— "[": ?’Egrﬂg ®V)ﬁ~93 :(\\/j)’—-\{e>9\ L. £~ 0 \
| E‘&QC\ (m}

N 9(*99

T = Sval x E xnb

-~ " (o)
B X ) X\ % z*\t?xgm 20

& = S PX\BXX%“/\\OS)Qﬁ @ QS:(\;—’*%,—\-’\—

4
V)

- E - R
§= %X \¥\0o - A1 :f_iy_’___\:u¥
>/ .
fe= 8 s ewwiafgrd
" @ S\—'\-*:‘— 9‘—2— ( y= 1o C
R\ QQ_ { -~
2~ 3 x0

@ Q:j’:j’gﬁ '[ 9(9_:39()—3

. | ‘3\\%9)9_:31»(\651
= 2= QA28 = kx5
HS\.:QX\ELC—




|
) cwe fewwnte of

civele

= 2T

RoNS (@ Of Wwive= 2ya
RefHennee O ©oc k} AT
SeCdo n T2
= QT
COUNmRNd ~efHenta = 2921

28321

= J—\(Tz
e I

- \\O %
@& p= N %‘1’1_-: \'O
S ‘f')’,l ’2-.9-071')_0
Q:f— -
P € by
Y

) P=N¥YT

2
".‘_\("ﬂv‘ :i___
E =g

S ]
2

P 2 K
e o
CC K’.ﬁ/_ﬁ\ N R
N7 ':@"x: i
T

-— @

\S kRO = koo
T HX\oe = G500
S+Qo = 400
' 1 x\000 = (000

I
2 000
e o e B
Pavyx &
(g Q,Sob_ﬁ 2 TCoo
N e Neen O —
4 2.2 o 219

()

|
Kivchod 't volnge RUC

N=TIT R

A =@ x1) (2 A(Px )

9T~ 3% 25 4P

o Sy P
Y = c&,,_g‘,g:"s-s—u_!

A s g = 2,
R?— !S'+1_K_+\g E"E
. [ Re=so-

N S I ) m
8 Bl = I

=]

N2 |B~v R E= v
v vy p

\ Y:E-;._@]’D m

3

:9_‘3L>ﬂo :



ot DS L- N0}
2 db
T e S O
N de
~2
cCO0¥X 3K 3-)14¥ (é‘x\o ) 2:»;'{__(104:7‘—-501 +lSO)
3 g [ = peee) Gogsas]
e PONE g =) £ = 204450
2(b~o)
€ =(~20%2) + 50
7 =3 { ]
3 A - - ={-\oV
431 x40 X 100%R X B lg%“ij £ = ~bo+SO e
2| \wo~-50 '
[_ : 3 @ Y dF
m
g= M ;
W g gY) 72
—7
B, = Hoywo' =\ o
- l ?/52 @ m= Mo Ny, A
Jq’n’i\o.\) ALo-%S)] —1
. = R0 x 100 x\ox x5 1
E, = igpsES x\BL” \*”5‘/'“l Lm:?-su ’;L\E[’ H <
a2 Jﬂ—ﬁﬁ\gj | @
- 3 €= -L (i
HY [W-\O)lrf\wooyg‘:{ . (dt )
N | = £ =l
fB& - l.lﬁbBM\wb},‘,j T s
N Vde) KB:\_’
dt
Bf,“gfﬁ: B, + Boq Beant, 8
= = = — & _ fxoor
= Q9SS 96D Ty 0.3 b 2E2Y (LY
0-05 gl
Rryr = 9 Shxip " \,;\o/m:q L= o)y
By = Bg oc | 0 ONg? -r
T = iy —_—— = T, = ox) 0
B\f - &E Sal ! Q/_Q S - .
be SinT ' | 1230 6 1220
o T
toan T\




SEEESESEN T SRR SRR RS SRR S T

5 - 2000
E} Adlahl ﬁw% =220%b= 1320 W (e e — :KO'JH, w J
) 422101
QQQOnCQW‘j wacf:\\i\uo:\lou) ! A 1boo 4-2710 I
e Clenty = Selon POW _ NOD (o~ o o
d ¢l PO T’:;U (g/) W o 7—'\\1{: 2Ty o = 1o T
| [ S Yy = e
T
1 _ —_\__
3\] m“‘i’_ - L | WLz =7
‘ vy
a v &L ‘/ | &= 13" LooT )y 28
1 o \ e
— l = —
‘ o = C === ch R L
= A AND ' ____,_F_
powex fetiox= | [ —
F e [ Loes
= ZL» == " e

|
|
|
i o
W R0 Ne=lov, u9'*1m7~1'swr /e [ —\l
Eo = Joo Ve

ez 4 MF | Ve=! . -
Pi’c \’eﬁonmﬂ‘l 3 ""“&“L Nﬁg}‘m@ =) o 7
. - V_ = = __—T =™ i
| T== "2 " Jeo 4 >\""i‘:':““"3'25—\____6 :E
| \ | s 200 x\D
L RPNy T — E—
9SO Ly 0 @ ¢ = EL«_\:Q_‘_ Bo=\2 E Eyms
3 o ByinS G
X, = 107 S = Xe b

Bo~ )
By By s o= Fliyx 3

V2T x, = 0l a0V | : < | i
. N yef o __% \E: "QIUX\O\?‘T‘]
12)  pLo20mh c=SOMNF, R=hoay , 6
No 10 Sinzhod (® E=%ocio ):wx—wtj{
. E= %o din ):K?L—Wf—l
B g 1&& Eg/v] K= 108
k= W w
\o j HO& _ = g
(> \3.‘0)'*?1!0&20%\03- | 2 kK¢ = 10 % 2 ¥X\D
= Ivo

: w-
’ ‘ = 32X (
4 \[L{U‘K ! 3“05(50‘(\‘0% ’D rr,\c‘ &

\ (':'00.\. (bg ..gg_?jl_




| _J’H :,_mcm’\fc:—zotm

QQV\%% 04 Ae Twornid 75

oo/

——e e

———

@) RQBD\\)H() ~ Mk = w22 ,/_2\—_

i ’]-_)

ol = g™ } T K00 Avn
R'QSO\\) \{ﬂ‘\ - = c&{(

Re%0\ divreiex

r oot Ao dow

|

| =

Yo 22 A
- \ ™
] —_—
3

® o &:Qmmxb) \xxﬁgxgx\E?’

—

V22 A

A = 1918 93,@

| - ‘\IH—\/L\
= ]_\S—(w)\:@ |
— _ ' ¢
n= S © 2
ST~ finY = L
Sin x> ¢int r'fzq\;\(’li):‘?'oa
N
@ L = a2(n-V)
5 R
: L g 78 = [0 70

a(n-y ’; (be-)) 2 (0-5)

D dl=mnd
Cone side of bubbl? dopHh T sum
i ovi il depHh :\-sﬁs:@]
on 0Hey side deprh f8 3 om

0 Fna depHh :!.513:{),.5 (‘m]
rrc‘ﬁCknud il |

n:‘_\-S',

= 7S +h5 |

-]

e

—

®

Sy :ZI__,-)-IQ—'/*Q\‘L'IQ,
T hT vz
91%&;«221;5;{_\411
J-— =

min = J"\"*‘l—a—»ﬂ 5"):1@2__

T+AT -afne=
2XHT —9xaD = T+ 4LD~-4T

=

—_—

D)

1)

JASES

5

= - — o

oy VASTB\e Ye9.(0 A Ezj

MN=7
amd = @rw\)_%
m= @Qat))  Sxsiaay e
Hd hvsx167

\r22.y 500xip 9



)‘ /\ ~a SinfP =1 \p(\;'_]\/g\n?uﬁ @) ¥ oot = ,___.,_ - '_(#D

\ |
TRz 5w | : m»f

F_“_ﬁ - - e - *-(?-;fymy@“\‘
) N Aen '\9 dan bo 70K \‘n'i
"o V3 \\7«'91._: 0- 725 'y l
g N — I
.- nNo 8 | Nez= "
| - | {2 Ky
) |

)o_ - ebnbymjlf

S >

F’KH I"(\‘D 7 0 77—7\\01‘)

|
7 |
| == |
)‘9.—-%'-‘:9-2\4* |
B o o e
\
|
|
|

)\\Tl\/\ _—
PR ; ® n- S —
- | i# : 7 B
| \
A=Y
@ Ae= e r'—h-— =~ _)“_ B J ~
“ :
Po=Ye P h F;i’ :\l_—_‘\#‘_ﬁ?m _ |29 -06
m‘,\l?:mq\/ﬁ kj?—‘@on_ .2 — 0 f
Vo = ™eVe _ 9y’ L =l -2 )
¢ ——*7 o el
i EE T -7 )

N 2xyo 7 -

) o= ‘\C —ev W

%:5—(——-‘3—!— P=E_ _ nho

2\ b t *___a_,., Pq%{"
O B N

A | P\ o
@:G} ' By g

0O - — = N
=
. -




T

b E = nhi F.:.gﬁnkc

| A ! P!

\1 Lo e At :3'8’<\3[’7<630K\5c7)<|
“he Ly oby (85

5= )‘OSJ‘,L]DLLC
W

Vo=
No i
Ao = he - b626X10 YX %108

®p
XAO = 3750 AO]

2212% kb o'

—_—

® Koz bd o by
' A

500 ~,g\6‘3
= 198y vi517

Kerex = .98y ¥\
984 X0
b x1519

@ L:h"k f n=H

L=nh=Yh _
pag

— (- 2251 bx
1619

5\ p24 eV '

bl

= "Q;é___'}__t_’, =

@ 2

f—-":'

N

on

=
= n =

| "

D x5

) e

| (Vo ¥y =00 49
® = -
RN
i NPT

4y

£ . r
—_— D {ﬁfj
e :

R AL %(&-DV—? 3
E(__,“‘ -'--lj" :7({(\/\:—%'%9
SN

Am~o-ohr
=93 meyY
B-E =0-0423G3)

- 30,.\ozmQ\/

BE 2 2919 [T Cmev]
v

7





{ "type": "Document", "isBackSide": false }

